
FINDING	
  
LATITUDE	
  

USING	
  POLARIS	
  
(the	
  North	
  Star)	
  



La8tude	
  by	
  Polaris	
  
Locate	
  Polaris	
  –	
  Due	
  NORTH	
  &	
  at	
  an	
  Al8tude	
  that	
  

matches	
  your	
  approx	
  La8tude	
  
	
  

Take	
  your	
  Polaris	
  (Star)	
  sight	
  as	
  normally	
  done	
  
	
  

Calculate	
  your	
  Ho	
  of	
  Polaris	
  as	
  normally	
  done	
  
	
  

Calculate	
  the	
  LHA	
  of	
  Polaris	
  
	
  

Go	
  to	
  Special	
  Polaris	
  Table	
  in	
  Nau8cal	
  Almanac	
  
	
  

Calculate	
  your	
  La8tude	
  from	
  your	
  sight	
  



Example	
  

At	
  18:13:55	
  on	
  11	
  March	
  2011	
  You	
  sighted	
  
Polaris	
  at	
  an	
  Hs	
  of	
  22°	
  48.0’	
  

Your	
  DR	
  posi8on	
  is	
  22°	
  06.6’	
  N	
  	
  	
  070°	
  54.7’	
  W	
  
Your	
  height	
  of	
  eye	
  is	
  115	
  X,	
  the	
  IE	
  is	
  0	
  
Your	
  Watch	
  Error	
  is	
  0	
  sec	
  And	
  ZD	
  is	
  +5	
  



Table A2 Information Page 



Find the Main Correction for your Ha and apply it to 
Obtain the Ho 



Insert the Main Correction for your Ha on the Form 
and apply it to Obtain the Ho 



Time	
  of	
  sight	
  =	
  
18:13:55	
  LT	
  
thus	
  GMT	
  is	
  

18:13:55	
  +5	
  hrs	
  
=	
  23:13:55	
  
Find	
  Hourly	
  
GHA	
  γ	
  (Aries)	
  



Time	
  of	
  sight	
  =	
  
18:13:55	
  LT	
  

thus	
  min/sec	
  are	
  
13:55	
  	
  

Find	
  γ	
  (Aries)	
  
Minutes	
  &	
  
Seconds	
  



Insert the Data thus found – GHA γ (H) = 154° 
15.5’ and (m/s) = 3° 29.3’ onto the Form 110 and 
add together to get the GHA γ the result being 

157° 44.8’ 



Apply	
  Assumed	
  Longitude	
  to	
  obtain	
  your	
  
LHA	
  γ	
  by	
  subtrac8ng	
  your	
  DR	
  

Longitude	
  Resul8ng	
  in	
  	
  
LHA	
  γ	
  =	
  86°	
  50.1’	
  



Worksheet	
  at	
  this	
  point	
  



Special	
  Polaris	
  
Table	
  in	
  
Nau8cal	
  
Almanac	
  
1	
  of	
  3	
  pages	
  
	
  
(located	
  in	
  your	
  
handouts)	
  



Step	
  1	
  	
  	
  	
  	
  	
  	
  LHA	
  ^	
  =	
  87°	
  find	
  a0	
  



Step	
  2	
  	
  	
  	
  	
  La8tude	
  =22°	
  
Find	
  a1	
  



Step	
  3	
  	
  	
  	
  	
  Month	
  =March	
  find	
  a2	
  



Calculate	
  La8tude	
  
La8tude	
  =	
  Ho	
  -­‐1°	
  +	
  a0	
  +	
  a1	
  +	
  a2	
  

	
  

La8tude	
  =	
  22°	
  35.3’	
  -­‐1°	
  +	
  30.1’	
  +	
  0.5’	
  +	
  0.9’	
  
	
  

La8tude	
  =	
  22°	
  06.8’	
  N	
  
This	
  resul8ng	
  La8tude	
  is	
  0.2	
  mi	
  North	
  of	
  our	
  DR	
  

La8tude	
  of	
  22°	
  06.6’	
  N	
  
	
  



Final	
  
Worksheet	
  


